172 17,7 '0 2,1 NMon .7"'02

— FTTOWD NINMR SI9T2 N7 IR KYT RIT MWD 1T
It is not valid by capital cases; however it is valid by monetary cases.

OVERVIEW

7am1 27 ruled that the 9109 of N7 MY, which is derived from the p1od of' nn1 X9
X"Y 9"V is only by mw»s1 °1°7, but not by man °1°7. Our NMHOIN explains why we do
not derive Mi1an °1°7 from Mwo1 °1°7 as we do elsewhere.

nooIn asks:
= PUIDAT (3, pr1mav) )P NPOY D2219D RNT YW719D9IND DNAN 1329 NWPN

The »'1% 8% 277728 120 asked, since we derive that relatives are invalid to
testify - ,
- ©%3 Dy MAN NI ‘NN

From the 7109 of 2012 ¥ max 1n»y X9; parents should not die on account of

their children (children cannot testify against their parents — their relatives) -
- 059 1515 1NN VOYM >291197 (x5 owy N335 1359133 NN 2351

And we derive from this also regarding monetary cases that relatives are 709

since it is written; ‘there shall be one law for you -
- SR MTYT RN 7Y MHYDI MM 9993 ) 991 19 BN

Therefore here too regarding the ruling of n7my2 M7y we should derive
monetary cases from capital cases; why distinguish between the two?!

N1B0IN answers: o
= TINP 1199050 23972 IND RIP INN TN YT NN

And it seems that perforce this P05 of 31 N1 XY is not dlscussmg NI ST -
+HONIN NN AAYYT b DIy 1N Ty1

For an R''y is effective regarding money issues, for he can make one swear.

SUMMARY
We cannot compare mMInmn to Mwol regarding an X"V,

',r (ovow) omaT.

2 10,75 (X¥N) D37

335,73 (MMR) RIP.

* The same law that applies to NMws3 *1°7 that relatives are 2109 (from the 2212 5y MK 1A ¥» P109), the same law
applies in monetary cases that relatives are n7v? 2108.

> Granted that the rule of n7mn M7y is derived from a P00 regarding NMwol *1°7 (as it states X"y 8"y naY X?), however
just as by the 9105 of 0°21p we derive M1y from NMwsl (because of TR vOWnN), the same should apply to nTPH MY
that we should derive from nmws1 °1>7 that even by M an nTmA MTY is 2109,

% Mmoo means that we cannot derive from this 100 regarding man *27. [It is obvious that the p109 is discussing 17
mw»y, this is not what '010 means].

7 One 7y has ‘value’ by mamn, we therefore cannot expound and say that one 7v and one 7y (n7mP» M7Y) has no
value, as we say by mw»s1 °17 where one 7V indeed has no value at all, therefore by nMws1 we can expound that not
only does he not have any value by himself, but there is no value even if it is one 7¥ and one 7¥ — an N7 MTY.
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THINKING IT OVER
What will be the ruling of an N7 ™ MY by 1M where there can be no 712w 21,
like by mupap, do we then apply the rule of N7 M7y or not?®

8 See Twabnm swmon A3 # 168.
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